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The figures in the margin indicate full marks
for the questions

SECTION—A

Answer any ten of the following questions :

2x10=20

1. What is the Law of Excluded Middle?

2. What are the laws of thought?

3. How many laws are formulated by Aristotle?
Hllustrate the Law of ldentity. 1+1=2
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State the rules of transposition and exportation.

What is indirect proof? What do we assume in
this method?

6. What is formal proof of validity?
7. What is Universal Quantifier?
8. Insymbolization of particular proposition, why do
we use Existential Quantifier?
9. Mention any two strategies that we adopt for
constructing conditional proof.
10. Name Mill’s five Experimental Methods.
11. Why are Mill’s Experimental Methods called
Methods of Elimination?
12. What is the Fallacy of Non-observation?
13. Mention different forms of hypothesis.
14. State any two uses of hypothesis.
15. “Two f:oins are tossed.” What is the probability
of getting at least one head?
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SECTION—B

i i . 10x5=50
Answer any five of the following questions : 10

16. Briefly explain existential import. Explain its

iti ition.
impact on traditional square of opposi -

17. What is Hetvabhasa? Explain briefly any t;v:)8=m
kinds of Hetvabhasa (fallacies).

idi twa) :
18. Construct formal proof of validity (any -
(a) QvP>o~0
o/.~Q
(b)) ADZ
AvZ/[: Z

(c) To-S
~(T-S)/ . Rv~S

19. For each of the following arguments, constructsa:5= o
indirect proof :
(a) (AvB)>(C-D)
co~Df~~A

(b) LRVS}DT
(PvQOT
RvP/-.T
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20. Symbolize the following (by quantifiers) :  2x5=1
(a) Nothing is permanent.
(b) Only teachers are invited.
(c) None but citizens are eligible to vote.
(d) All bananas and mangoes are sweet.

(e) Not all dogs are mammals.

21. Use conditional proof to prove the validity of the

following arguments : 5+5=10

(a) A>(B-C)
BvC)DI/.ADI

(b) FoE
(F-E)y>R/..F>R

22. Explain Mill's Method of Difference with

examples. Is it a method of proof?

8+2=10
23. Point out the fallacies involved in the following
arguments : 2x5=10
(a) Ah magician_ moves his stick whenever he
shows magic, So the moving of the stick is
the cause of the Magic,
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(b) By observing one after another some white
horses, I infer that ‘All horses are white’.

(c) Gunpowder is the cause of explosion.

(d) Winter is the invariable antecedent to spring

so the former is the cause of the latter.

(e) Ram appeared at the examination by wearing
an amulet and passed. So the wearing of the
amulet is the cause of his success.

24.

What are the criteria for evaluating hypothesis?
Explain each of them with examples. 10
25. Discuss briefly the role of hypothesis in scientific

enquiry. 10
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